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Q:1 In the following question, two equations are
given. You have to solve both the equations and
mark the correct answer.

2m2+14m +24 =0

6nZ+36n+48=0

l.m<n

22.ms<n

3m>n

4. mz2n

5. m = n or the relation between m and n can't be
determined

Q:2 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

m? - 34m + 288 =0
n2-32n+252=0
l.m<n
2.m<n
3m>n
4. mz2n

5. m = n or the relation between m and n can't be
determined
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Q:3 In the following question, two equations are
given. You have to solve both the equations and
mark the correct answer.

m2+7m+12=0

n2+10n+24=0

L.m<n

2.mz<n

3m>n

4. mz2n

B. m = n or the relation between m and n can't be
determined

Q:4 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

Mm2+3m-40=0
II.n2+19n + 90 =0
l.m<n
2.mz<n
3m>n
4. mz2n

B. m = n or the relation between m and n can't be
determined

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

)l
1LV HI]

RONAS

Ensuring success through skills

WB Civil Services

Quantitative Aptitude - Quadratic Equations

DAILY
DOSE

J

Other Competitive Exams

Q:5 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

l.2x2 = 13x +20 =0

I.3y2 + 14y =5 =10

Lx<y

2.x<y

3.x>y

4.x2y

5. x =y or the relation between x and y can't be
determined

Q:6 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

l.x2-28x +195 =0

Il.2y? =13y + 21 =0

Lx>y

2.x2y

3.x<y

4.x<y

B. x = y or Relationship between x and y cannot be
determined.

Q:7 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

1. 7x%[6 - 4x +17/6 = 0

Il. 5y2 - 37y/8 +1/2 =0

Lx>y

2.x2y

3.x<y

4.x<y

b. x = y or Relationship between x and y cannot be
determined

Q:8 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

. 21x2 - 58x +21=0

Il.8y2-14y +3 =0

Lx>y

2.x2y

3.x<y

4.x<y

5. x = y or Relationship between x and y cannot be
determined
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Q:9 Direction: In each of these questions, two
equations (I) and (II) are given. You have to solve
both equations and mark the appropriate answer.

.3x-8/x+5=0

1.3y - 11V/y +10 =0

Lx>y

2.x2y

3.x<y

4.x<y

5. x = y or Relationship between x and y cannot be
determined

Q:10 Direction: In each of these questions, two
equations (1) and (II) are given. You have to solve
both equations and mark the appropriate answer.

l.2x?> - 6.4x + 35 =0

Il.2y? - 48y +27=0

Lx>y

2.x2y

3.x<y

4.x<y

B. x = y or Relationship between x and y cannot be
determined
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IAnswer Key (n-18)n-14(n-18) =0
(n - 14)(n - 18) =0
1. (5) 2. (5) 3. (4) 4. (3) 5. (3) n=14,18
6. (1) 7.(1) 8. (5) 9. (4) 10. (5) We can analyse,
Value of m Value of n Result
IAnswers and Solutions
16 14 m>n
Q:1 The correct answer is Optlor‘\ S5iem= nor 16 18 m<n
the relation between m and n can't be determined.
Equation 1 18 14 m >n
2m2Z + 14m +24 =0
2m2 + 6m + 8m + 24 = 0 18 18 m=n
(2m+6)m+4(2m+6) =0 Hence, the relation between m and n can't be
(2m + 6) (m + 4) =0 determined
m = -3, -4
Equation 2 Q:3 The correct answer is Option 4 i.e. m 2 n.
6n?+36n +48 =0 Equation 1
nN2+2n+4n+8=0 m2+7m+12=0
(n+2)n+4(n+2)=0 m2+ 3m +4m +12 =0
(n+4)(h+2)=0 (m+3)m+4(m+3)=0
n=-4-2 (m+3)(m+4)=0
We can analyse, m = -3 -4
Value of m Value of n Result Equation 2
n2+10n+24=0
-3 -2 m<n n2+6n+4n+24=0
(n+6)n+4(n+6)=0
= 4 m>n (n+24) (n+6)=0
-4 -2 m<n n=-4-6
We can analyse,
-4 -4 m=n
Value of m Value of n  |Result
Hence, the relation between m and n can't be
determined -3 -4 m > n
Q:2 The correct answer is Option 5 i.e. m = n or 3 6 m>n
the relation between m and n can't be L4 4 m=n
determined
Equation 1 -4 -6 m >n
2 _ _
m=<-18m -16m + 288 = 0
(m-18)m-16(m-18) =0 . . .
: e.m>
(m -16)(m -18) = 0 Q4 The correct answer is Option 3i.e.m>n
_ Equation 1
m =16, 18 2 B
Equation 2 m"+3m-40=0
n?-32n + 252 = 0 m? +8m — 5m - 40 = 0
n2-18n-14n + 252 =0 (M+8)m-5m+28)=0
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(m+8)(M=5)=0

m=5,-8 x=13,15
Equation I
, 2y?2 =13y +21=0
E2c1uat|on 2 2y2 - By - Ty +21= 0
n“+19n+90=0 (y_3)(2y_7):0
n?+9n+10n+90 =0 y=37/2
(n+9)n+10(n+9)=0 We can analyse,
(n+10)(n+9)=0 Value of x Value of y Result
=-9,-10 13 3 X >y
We can analyse, 13 //2 X2y
15 3 X >y
Value of m Value of n Result 15 7/2 X >y
5 9 . Hence, x > y
5 -10 m>n Q:7 The correct answer is optionlie. x>y
Equation |
-8 -9 m > n 7x2[6 - 4x +17/6 = 0
7x*-24x+17=0
L8 -10 m>n (x-1)(x-17) =0
x=17/7,1
Hence, m >n .
Equation |l

Q:b The correct answer is option 3i.e. x > y.

2x2-13x+20=0 (8y-1) (5y-4) =0
=2x?-8x—-5x+20=0 y=1/8,4/5

= 2x(x - 4) - 5(x - 4) =0 We can analyse,

=(x-4)(2x-5)=0 Value of x Value of y Result
2x=4,5[2 17/7 1/8 >y
3y2+14y-5=0 17/7 4/5 X >y
=>3y?+15y-y-5=0 1 1/8 X >y
=3y(y+5)-1(y+5)=0 1 4/5 x>y

=(y+5) (3y-1)=0

5y2 - 37y/8 +1/2=0

40y2-37y +4=0

Hence, x>y

.y =-51/3
We can analyse, Q:8 The correct answer is Option5ie.x =y
Value of x Value of y Result or Relat-lonshlp between x and y cannot be
" 5 >y determlned
Equation |
A 1/3 x>y 212 - 58X + 21 = 0
5/2 5 X >y (3x-7) (7x - 3)
5/2 1/3 X >y x=3[7,7/3
Equation I

Hence, x >y

Q:6 The correct answer is option 1i.e.x > y. y = 3/2.1/4

Egucmon ! _ We can analyse,

§2 fé?(x_ﬂéiiﬁg% =0 Value of x Value of y Result

(x-13) (x-15) =0 3/7 3/2 X <y
3/7 1/4 X >y

8y?-14y +3=0

(2y-3) (ay-1) =0
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7/3 3/2 X >y

7/3 1/4 X >y

Hence, x = y or Relationship between x and y
cannot be determined

Q:9 The correct answer is option 4ie. x <y
Equation |

3x-8/x+5=0

(vx-1) (3/x - 5)

x=1,25/9

Equation I

3y -1/y+10 =

Wy - 23/ (3vy - 5) =0

y =25/9,4

We can analyse,

Value of x Value of y Result
1 25/9 X <Y
1 4 X <Y
25/9 25/9 X =Yy
25/9 4 X <Y
Hence, x <y

Q:10 The correct answer is option 5 i.e. x =y or
Relationship between x and y cannot be
determined

Equation |

2x2 - 6.4x+35=0

(x-07) (2x - 5)

x =0.7,5/2
Equation I

-48y+27=0
(y-09)(2y-3)=0
y=0.9, 3/2
We can analyse,
Value of x Value of y Result
0.7 0.9 X <Y
0.7 3/2 X <V
5/2 0.9 X >y
5/2 3/2 X >y

Hence, x = y or Relationship between x and y
cannot be determined
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